5.¢ Practice with DouJo\e.é‘ Wal$ Q“F&\c, Tdenties

@ S'\ne:_'_ga. Qgg(z_e) = ¢0s %g “S‘tﬂle
2 E\*
3 @ Lﬁ\l*‘b‘%;%l = (33: '—(“’5’
— srb=q o 4 8 |1
b= 4 9 9 q
- o1 B
jd .
o smx—.-\-g CoS(?-)O = coslx -sz')(
5 ]\ # |2_\2'
SX = 2 [Z2=\ — ([=—
CoSKX E (\3 (JS
_ 55\t
" B Iy Q \Uo\
tosx=Tog |
@ \ 2 cos(?.x):cos’“x-—sm”x
SIHX:'S" ( 2 Ciz-
= s g
I Bt P .
o 25 35 G2
5
4) S\NB =73 |
:73_ Sin 8= 2sinOCoSO
1s68= 5 \ (1%
©sO= 73 ':2(73:'5\(@)
e |\ ®
b9
~ _ |
BiA =T sin2x = L8inxcasX
ar‘
tosx= 5 =2 (£)(F)




© sin2e :fi- @ S0 2A _
2. CoS Pr
2. 5\nO (03O :—@— .
2 ,Q/QMSMA @
=Sin
Sing o8& =3 X cosh ‘
I-f
Sin® = ‘ZL_ case‘r ® sin2e _ 2e0s6 U’“)U
SintO Sing Mé
5 4) e
g
L\
(35-) ®20se
L
F D (E+) 3INER @
‘-\‘ //?-/C«Q’E? ‘,:; M}_,,___,, -— ."16\]
3 y292 +| ~Fosd SN 5N 1£sC®
A @LN’\\JF Sine =b
o '\’ZE i T p A QLY
: . b) cos2e7 b
4423 a)tane-}b ) ¢
-
+Z1e
=
® S\ﬂ@z .-;— 3_
coso="L %’,’3‘
an O A
Oq 5\(\(’)_6) 2COSSS\ a) =on (,’J_’BB |—-Jcom7"8
'2(5\(’3-E .
b) cos(ze)" coj"_? anle 2 1_ q
( 4[ \ = _‘;“ :’}6-;_.‘1“
-___ \—16 ’%




@ \ i & ﬁl(%\

o asmL (9)

Cos(20) = |
16 —




